



Vendor Ranking

Page 1 of 1

Letting: 01200116 January 16, 2020 11:00 am **Call Order:** 010 **Contract:** E1T39-R0

District: District 1 Counties: DESOTO, DIST/ST-WIDE, Fed Aid No: N/A

Contract Time: 365 AVAILABLE DAYS HARDEE Project(s): 43265017261 (*)

Contract Desc: Shoulder Repair with Sod

Rani	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	MIDWESTERN CONSTRUCTION, INC	Responsive	Winning bid	\$240,825.00	100.00%
2	ENVIRONMENTAL LAND DEVELOPMENT	Responsive	Non-Winning Bid	\$262,250.00	108.90%
3	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$269,861.55	112.06%
4	COBB SITE DEVELOPMENT, INC	Responsive	Non-Winning Bid	\$329,131.05	136.67%
5	AIRBOAT ADDICTS, INC.	Responsive	Non-Winning Bid	\$349,625.00	145.18%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 5

Letting: 01200116 January 16, 2020 **Call Order:** 010 **Contract:** E1T39-R0

District: District 1 Counties: DESOTO, DIST/ST- Fed Aid No: N/A

Contract Time: 365 AVAILABLE DAYS WIDE, HARDEE Project(s): 43265017261 (*)

Contract Descr: Shoulder Repair with Sod

The work under this contract consists of Shoulder Repair with Sod.

Line No / Item ID Item Description	Alternate Quantity Units	(1) MIDW CONSTRUC		(2) ENVIRONM DEVELO		(3) ROGAR MA CONSULTING	OF FLORIDA
() indicates item is bid as Lu		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	_C Ext Amount
SECTION: 0001	SODDING (SY	()					
0005 0120 6 EMBANKMENT	150.000 CY	8.00000	1,200.00	25.00000	3,750.00	0.01000	1.50
0010 E570 5 FERTILIZER	5.000 TN	1,500.00000	7,500.00	950.00000	4,750.00	0.01000	0.05
0015 E570 9 1 WATER FOR GRASS & PLA	1,000.000 ANTS MG	2.50000	2,500.00	15.00000	15,000.00	0.01000	10.00
0020 E575 1 SODDING	55,000.000 SY	2.25000	123,750.00	2.69000	147,950.00	2.83000	155,650.00
0025 E577 70 SHOULDER REWORK	40,000.000 SY	1.45000	58,000.00	1.32000	52,800.00	1.65000	66,000.00
0030 E577 70 1 REWORKING SHOULDERS REPAIRS)	7,500.000 S (SPOT SY	1.45000	10,875.00	1.20000	9,000.00	1.84000	13,800.00
0035 E577 70 2 REWORKING UTILITY STR	5,000.000 IPS SY	2.00000	10,000.00	1.30000	6,500.00	1.84000	9,200.00



01/30/2020

Tabulation of Bids

Page 2 of 5

Letting:	01200116	January 16, 20	20 Ca l	II Order: 010		Contract:	E1T39-R0	
Line No / Item ID Alternate Quantity Item Description Units			(1) MIDWESTERN CONSTRUCTION, INC		(2) ENVIRONMENTAL LAND DEVELOPMENT		(3) ROGAR MANAGEMENT & CONSULTING OF FLORIDA	
() indicates item is bid as Lump Sum		n	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	LC Ext Amount
SECT	ON: 0001	SODDING (SY)						
0040 E577 7 BLADING PAVE BEYOND PAVE	D SHOULDER, UF	30,000.000 P TO 24" LF	0.90000	27,000.00	0.75000	22,500.00	0.84000	25,200.00
000	1 SODDING (SY)	Section Totals:		\$240,825.00		\$262,250.00		\$269,861.55
	Contract	Grand Totals:		\$240,825.00		\$262,250.00		269,861.55



01/30/2020

Tabulation of Bids

Page 3 of 5

	No / Item ID Description	Alternat	e Quantity Units	(4) COB DEVELOPM		(5) AIRBOAT A	DDICTS, INC.		
() in	dicates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	SODDING (SY)						
0005 EMBAN	0120 6 IKMENT		150.000 CY	52.46000	7,869.00	95.00000	14,250.00		
0010 FERTIL	E570 5 IZER		5.000 TN	1,720.41000	8,602.05	1,125.00000	5,625.00		
0015 WATER	E570 9 1 R FOR GRASS	& PLANTS	1,000.000 MG	26.96000	26,960.00	15.00000	15,000.00		
0020 SODDII	E575 1 NG		55,000.000 SY	2.65000	145,750.00	3.88000	213,400.00		
0025 SHOUL	E577 70 DER REWORF	<	40,000.000 SY	1.91000	76,400.00	1.24000	49,600.00		
0030 REWOR	E577 70 1 RKING SHOUL RS)	DERS (SPOT	7,500.000 SY	2.12000	15,900.00	1.24000	9,300.00		
0035 REWOR	E577 70 2 RKING UTILITY	Y STRIPS	5,000.000 SY	5.87000	29,350.00	1.29000	6,450.00		
	E577 71 IG PAVED SHO ID PAVEMENT	•	30,000.000 TO 24" LF Section Totals:	0.61000	18,300.00 \$329.131.05	1.20000	36,000.00 \$349.625.00		

0001 SODDING (SY) Section Totals:

\$329,131.05

\$349,625.00



01/30/2020

Tabulation of Bids

Page 4 of 5

Letting: 01200116 January 16, 2		20 C a	all Order: 010		Contract:	E1T39-R0		
		Quantity Units	(4) COBB SITE DEVELOPMENT, INC		(5) AIRBOAT ADDICTS, INC.			
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
Contract Grand Totals:				\$329,131.05		\$349,625.00		



01/30/2020

Tabulation of Bids

Page 5 of 5

Letting: 01200116

January 16, 2020

Call Order: 010

Contract:

E1T39-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.